a(0 @) (raqd)

1072

Ratio

SICEWATL

Ratio

107Y%=:1; I

[EEN
i

o p/p.)

i

1.2

ARSIt S0 Wt O 1 1 S
-2 -1 0 1 2 3
TP n (PCA to beamline)

iy

0.8
0.6

W

a(d cot(d))

1072

Ratio

107

ey

|
w

|
N

1 2 3
TP n (PCA to beamline)

—=— DQM_MmKFIt_T1original

—e— DQM_mkFit_TToriginal-106

—— DOM_mkFit_TTNEWHSMS95_ALLITERS-106
—— DOM_mkFit TTNEWHSMS90_ ALLITERS-106

107}

s

-2 -1 0 1 2 3
TP n (PCA to beamline)

o ———

[y
TTTT] T
+
4

,_.
<
L

1072

.........

2 3
TP n (PCA to beamline)

ey

[V A R R R R

z

oo a,) (cm)

Ratio

o
G

107
E' : |

15-| =BT Hl

ISR K il
=3 -1 0

2 3
TP n (PCA to beamline)



	Contents
	Page 1


